Estrichberechnung Arbeitsblatt
1" Flachen und Umfange
/immer 1
A =397 * 287 = 11,39m°
U=(397 +287) 2 = 13,68m
/immer 2
A =537 * 317 - 1,80 * 030 +
0,14 * 0,97 * 2 = 16,75m°
U=(537 +317) 2 +
0,25 * 4 = 18,08m
Limmer 3
A = 4,07 * 2,67 - 0,50 * 120 -
0,87 * 036 + 0,14 * 0,97 * 2 = 10,23m”
U= (4,07 + 267 + 036) * 2 +
0,25 * 4 = 15,20m
Bad
A =222 % 297 + 0,40 * 162 = 7,24n°
U =1(220 + 0,40 + 2,97) * 2 = 1118m
\/orrdum
A =342 * 137 + 0,13 * 0,80 * 4 = 5,10m”
U= (342 +137) * 2 +
025 *8-0,8 * 4 = 7,38m
65,52m 50,71m’

Erstellt mit einer Schulversion von Allplan



